[image: image1.jpg]


LINKING 1: INTRODUCTION
Linking – this type of question directs you towards a sentence, almost always at the start of a paragraph. You have to quote twice from this sentence. 
· One quotation should be connected to the previous paragraph/section of the passage. 
· The other quotation should introduce what comes next in the paragraph/section following on from the linking sentence.
Your answer should have two sentences, each with a quotation. 

One sentence has a quotation and explanation of how it connects to what came before the linking sentence.

The other sentence should have a quotation and an explanation of how it connects to what comes next.


Wording of Linking Questions

Explain how the sentence             performs a linking function in the passage. (2)

Comment on the function performed by the sentence               (3)


Things to Remember

· You should only quote from the linking sentence, the one you are directed to in the question.

· Each quotation should have a separate explanation of how it is linked to what comes either before/after the sentence.

· Some 3 mark questions ask you the function of the sentence. You have a sentence explaining that it performs a linking function before getting the other 2 marks in the usual manner.

LINKING 2: GOOD AND BAD RESPONSES
Comment on the function performed by the sentence “These social problems did not prevent Smith having a successful career in the music industry” (3).

Good Response

The sentence performs a linking function in the passage.

The words “These social problems” connect to the previous paragraph which described how Smith struggled to make friends and never attended parties during his time as a student.

The words “successful career in the music industry” introduce the rest of the paragraph which is about the awards he won with his band, including the Brit for best newcomer and it also tells the reader about the money he made through huge record sales.
Bad Response

The sentence describes how Smith was not very good socially but he was also a success in the music industry so it lets us know what the passage is about.

Bad Response

The sentence is a linking one as it tells us about how he had social problems and then it also lets us know about his success as a musician so it is basically telling the reader what the passage has been about and how it is going to change.


Please Note

If this had been a two mark question it would have been worded:

 Explain how the sentence “These social problems did not prevent Smith having a successful career in the music industry” acts as a link in  the development of the writer’s ideas. (2).
For this, you would not need the first sentence in the good example – just the two that follow.

LINKING 3: PRACTICE QUESTIONS
1. The playground was full of acts of premeditated violence. The building was dilapidated. The morale amongst the teachers was poor, with many objecting to acts of intimidation directed at them by the pupils they tried to teach. The cleaners had given up trying to deal with the debris, which lay scattered in every corridor and stairwell at the end of morning interval or the all too brief lunchtimes. Local drug dealers had taken to hanging about the school gates, finding too many willing customers exiting through the school gates.

Yet, these terrible problems did not deter the new Rector, as he put a variety of 

strategies into operation. Firstly, he and the Board Of Studies began regular patrols in the playground during times when the pupils were using it, and motivated pupils were sworn in as prefects to help enforce the law. A new Staff Social Committee was set up and the staffroom was redecorated. New litter patrols were initiated using the pupils who wanted to have pride in their school. Money was spent installing a new security system and a more effective and hard-hitting anti-drugs education pack was used during Social Education lessons.

Explain how the sentence “ Yet, these terrible…..into operation” performs a linking function in the passage. (2)

2. During his time at High School, Harding became a cause for concern. His behaviour with female students was intimidating and there were many complaints about his inappropriate comments to them, often of a violent or sexual nature. He also found it impossible to relate to his peers and he was an isolated figure in the playground or corridors as he actively sought to separate himself from the other children. Most problematic was his art work and he produced images of the bizarre fantasies spewing forth from his dark imagination. One depiction of a wart-time massacre was so horrific that his Art teacher refused to teach him any more.
Despite the psychological problems that were becoming increasingly obvious in his words and actions, Harding had undoubted academic potential. He won a Creative Writing competition during his first year at the school. Moreover, his performance in Science and Mathematics tests at the end of second year was so much more advanced than his classmates that he won Awards in both subjects.
Explain how the sentence “Despite the psychological problems…academic potential”  performs a linking function in the passage. (2)

